
Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty.  *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Weldon products have a one (1) year warranty
(excluding consumable components). Select Weldon LED products carry a five (5) year warranty. For Weldon product returns call 800-989-2718. Honda products have the manufacturers' warranty and Akron Brass disclaims any warranty in respect of those products.
 
 ©Premier Farnell Corporation. 2012 All rights reservered. No portion of this can be reproduced without the express written consent of Premier Farnell Corporation.

DateChg.
7-0701
9-1202

120590

D43128

TECHNICAL SERVICE PARTS
STYLE  3524
PRODUCT  OMEGA SD

    USE PERMABOND LM113 OR LOCTITE 222.

    USE LOW-TEMP LUBRIPLATE.

    CONTACT SHAFT THEN BACK OFF 1/4 TURN.

    MATCH DRILL 1/8 HOLE THRU ITEMS 11 & 13.

ASSEMBLY NOTES:

  USE PARKER O-LUBE ON ALL O-RINGS AND MATING SURFACES

  UNLESS OTHERWISE NOTED.

OPTIONAL THREAD ADAPTER

25

5

21

8x

8x

53

52

51

2

3

4

5

2

2

2

2 4

5

3

3

2

5

4

4

9

13

11

7

2

8

14

20

10

5

16
3

13

10
15

11

7

19

8

21

22

6

6

15

18

17

23

12

12

1



Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty.  *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Weldon products have a one (1) year warranty
(excluding consumable components). Select Weldon LED products carry a five (5) year warranty. For Weldon product returns call 800-989-2718. Honda products have the manufacturers' warranty and Akron Brass disclaims any warranty in respect of those products.
 
 ©Premier Farnell Corporation. 2012 All rights reservered. No portion of this can be reproduced without the express written consent of Premier Farnell Corporation.

DateChg.
7-0701
9-1202

120590

D43128

TECHNICAL SERVICE PARTS
STYLE  3524
PRODUCT  OMEGA SD

Find Description Item QTY

1 GOOSENECK 120577 1
2 FLANGE 3" INLET 120575 1
2 FLANGE 4" INLET 120573 1
3 ELBOW OUTLET 120576 1
4 HANDLE 26"  721640* 1
5 BEARING 704943 4
6 O-RING 2-341 757444 2
7 RING HALF 756163 4
8 SCREW HEX HEAD CAP 1/4-20 X 5/8" 761077 16
9 GRIP HANDLE FLEX  718071* 1

10 BALL BRASS 3/8"DIA 704020 2
11 SHAFT BRAKE 770219 2
12 PIN ROLL 744066 2
13 HANDLE KNOB 109189 2
14 PLUG PIPE SOC HD 3/4THD BR W/VIBRASEAL 5 744018 1
15 SCREW SOCKET HEAD DOG POINT SET 1/4-20 X 5/16" 765070 2
16 PLUG SOCKET HEAD PIPE 1/8" 744009 1
17 TAG 773381 1
18 NAIL GRIP 736052 4
19 SCREW SOCKET HEAD CAP LOC WELL 1/4-20 X 7/8"  767157* 8
20 ELBOW INLET 120574 1
21 SCREW SOCKET HEAD CAP W/PATCH 3/8-16 X 1 1/4" 763043 3
22 O-RING 2-238 757036 1
23 SCREW SOCKET HEAD CAP 3/8-16 X 1" 767139 1
25 WASHER SPLIT LOCK 1/4"  784106* 8
51 ADAPTER THREAD 104569 1
52 GASKET 717043 1
53 SCREW SOCKET HEAD CUP POINT SET 1/4-20 X 1/4" 765002 1

* ITEMS 4, 9, 19, AND 25 AVAILABLE
  IN SERVICE KIT 35240005


	Sheet 4
	Views
	new_view_11
	new_view_17


	Sheet 5
	Zones
	A1



